Do you agree or disagree with the following statement? Parents do not understand their children as well as parents did 50 years ago.
No one can cast a shadow of doubt over the significance of understanding children by their parents. While some people believe that parents living in the past generation much more realize their children compare to the present time, others argue that contemporary parents can perceive better. I, personally, agree with the former idea, which I will elaborate on my two most compelling reasons in the following paragraphs.
[bookmark: _GoBack]To begin with, today people get married late. To clarify this issue, youth living in this contemporary time do not want to get married as soon as their parents did. So, in the shadow of this when they have children they face some problems such as big age difference which, in turn, leads to the lacks of speaking the same language; moreover, desires change during a time, and these events contribute to feeling the big gap between parents and children in order to realize what their children want or how they think. To illustrate this issue, my mother and I are a compelling example. She always talks to her mother about problems tackling and wants to spend almost all of the leisure time with my grandmother, and when I ask her why you always want to go to her house and talk with her my mother told me that she always understands me. Although I love my mother, I cannot talk with her because she never understands my feelings and always wants to dictate her attitudes toward issues to me. One day I asked my grandmother why you can understand my mother but she cannot realize me as simple as you can understand her, she said that herself and my mother live in almost the same decades, and they face the same problems but nowadays many things have changed, and she has about 30 years difference age with you and both of us experience different thing at the same age so it is natural that she does not understand you.
Secondly, parents should work from the dawn to the dusk in order to afford everyday expenditure more than parents living in the past time. This issue causes parents do not have appropriate time in order to spend with their children and get familiar with their children’s desires and perceive what has an important place for their children because when anyone can understand others considering much time to them. Take parents who should work in the company for 8 hours in 5 days per week, because goods get more and more expensive in these decades more than the past they should also work in weekends as a vivid example; so they do not have a suitable time spending with their children in order to talk and try to understand them. Thus, had a contemporary life not became more intricate rather than the past, they would have more time knowing their children better.
To sum up, these reasons point to the fact that parents cannot perceive their children in comparison to the past, most of which are because of scarcely do they get married at a young age in order to decrease age difference; furthermore, should parents not want to provide other desires of their children, they have not to work more and more, so they can allocate appropriate time in order to realize them.
